ggd

ud gd ud ud ooooobod
1 = goo E 1,500,000
2 = goo E 700,000
3 ("] ooogs2 E 380,000
T4 = ooo E 300,000
T4 = ooo E 300,000
T6 = goo E 220,000
T6 ("] g E 220,000
8 ("] goo E 170,000
9 ("] goo E 150,000
10 = goo E 140,000
T11 = goo E 103,714
T11 = goo E 103,714
T11 = goo E 103,714
T11 = goo E 103,714
T11 = goo E 103,714
T11 = goo E 103,714
T11 = goo E 103,714
T18 = ooogd E 79,500
T18 = goo E 79,500
T20 = goo E 73,666
T20 = goo E 73,666
T20 = goo E 73,666
T23 = goo E 68,480
T23 = goo E 68,480
T23 ("] O00O0Oe OO E 68,480
T23 = g E 68,480
T23 = goo E 68,480
T28 = goo E 62,000
T28 = goo E 62,000
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62,000
62,000
52,944
52,944
52,944
52,944
52,944
52,944
52,944
52,944
52,944
45,500
45,500
42,500
42,500
41,000
37,500
37,500
37,500
37,500
32,000
32,000
32,000
32,000
25,820
25,820
25,820
25,820
25,820
22,000

19,000
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T60
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19,000
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